& AE2e @& 2 W, Vb = 2236 A& o83t

ok

2~
T

D 2000 @ /50000 ® +/0.0005
@«/0.02 ® +0.05

D V2000 = 20 V5
@ /50000 = 100 V5

5 V5
® +0.0005 = T DI

5 5
® +0.05 = ‘/ﬁzﬁ




(e]
rlo

al

2. e FeAge A

§
filo
;

2t}

@ a>0¢ o, Wx 4a? = 6a?
© a<0 ¥ V2542 - \/(-6a)% = —a
©® a<0, b>0< W, V10042 - 5V4b2 = 10(a - b)

@ a>0,b<0< 0,
V(@a)2 - \/(=b)2 - \/(6b)2 = 2a + b

i

iy

0%
L
@)

v VvV VvV v v Y
0x
i
©

0x
n
@

S5
©a<0 g,
V2542 — V/(-6a)2 = —5a - (-6a) = a
©®a<0,b>0<
V10042 — 5 V4b2 = —10a — 5 x 2b = —10(a + b)
@a>0,b<0 o,
V(4a)? - \/(=b)2 - \/(6b)2 = 4a +Th




3.

A:M+M_\/Wx(_\/§)2

B = V14 x \/§+<—\/§>

A=14+2-32x2=7-18=-11

B—12><9. 3 —12><9>< S )= 10




@ V37-1<6
© V2+4<V3+4

© —/(-3)*+2>-V10-1
11

@ §<$
@ 4-V2>2+ V2
@ 174 @ 27} ® 3 @ ® 570

@4-V2-2-V2=2-2v2=ViI-V8<0
S4-V2<24+ 2




L

-

ul
RO

a+ 1

(VaF D)2 + (Va=1)2
Va—-1x

a—+1

Va+1+ a—1
a—1

a+1l+a-1

—

7




6.

A HHO A HHO
54 V11 o A4 BRS¢, &5 BES

T-stofat,
» =
> ®EHD 11— V11

b =t

S}

=

o, a-b 9 F

~&B

VIl =3.xxx °|P &

5+ V11 =8.x xx ©] Hr}.
a=8>b=(5+ VII)-8=-3+ VII
na-b=8-(=3+ VII)=11- V11




7.  V16.9 x V640 & AAFSHH?

®ss @it @16 @ © 1040

/1
V16.9 X V640 = %X 64x 10 =13 x8 =104




-16
-16

V20

0.09

V8

0.01

V25
V36
V64

V4

V15

100
120

V81
V=9

V28
Vi3

Vo
V9
V3

V0.4
Vi8

-0.9

V49

-36

™
0 | — | < a
21_1_.1
— | ©
08&_5
o
© =R
@ 2| TS
~
oS |~[Z |
|
o
0 — [ | D~
A AT

42

e

ul

-16
-16

V20

0.09

V8

0.01

V25
V36
V64

Vi

V15

100
120

V81
V=9

V28
Vi3

Vo
Vo
V3

V0.4
V18

V-0.9

V49

-36

(yp]
0 [ — [ < (o]
Q=TT
— | ©
0000._5
o
© = [ 52
@ 5o TS
53
607m2
|
o
0 — [ | D=
I T =




® A @ B ®cC @)D ® E

—V25 < = V17 < = V16 oA
—5<—V17<-4°]BE2 1 < —V17+ 6 < 2 o]t},
s =V1T 469 t-53t= 2 A D ot}




10.

V& = 4 2 1], 4 9| 3H& Fatolat,




11, V38n ©] 357} H=8 ot 445 0 9 A58 Fofedel,

38-n=36=>n=2
38 -n=25=>n=13
38 -—n=16 =>n=22
8 -—-n=9=>n=29
8-n=4=n=34
38-n=1=n=37
38-n=0=n=38
webA] n =7 7ol




12.

e S5

filo

udg o, 3kl HAAstE 7

4,5 3V3+1,4v2-1, 247-1

@ 4 @ 5
@4@—1 ® 2V7-1

® 3vV3+1

B

3V3+1=V274+1%6.---
4V2-1=+32-1=4.---
2V7—1=+V28-1=4.---
42 -1-(2V7T-1) =4V2-2+7
= V32- V28>0
O|ER 442 -1>2V7-1
o4, 2V7-1,4v2-1, 5, 3V3+1
Z7H Y A5k = 4vV2 -1 o]t}




13. the 122 gk Ho] Zolr} 2 ol AAZFP o] ZF ¥ o] =
DOABC £ 13 Zlelth. OA = OP, OC = 0Q ¥ i,
Hus e, bt &

B
, A
0Ql 0@ 3P 4
> E
> HEE a+b=14

B

W, a+b 2 gh= F5tof=h

oy Mo

(oOABC ‘55‘0]):2><2—4x(%x1><1) =9
-~ 0C=0A=+2
P24+ V2),Q(2- V2)°lE& g+ b =4 o]t}




